Efficiency vs dr

0.5
0.45

0.35]

efficiency vs AR
=}
D

©
w

0.25
0.2
0.15
0.1
0.05

000000001__Global
000000001__Global

mkFit_baseline
mkFit_var
_mkFit_jcoreNoClean

_R000000001__Global

0.5
o 0.45

, Jet

©
»

0.35

©
w

0.25

etticiency vs AR(T

o
[N

0.15

0.05

Ratio
P
iy

-1

Efficiency vs pu

50.02 - - - - T T T T T
o O OO VOO SOOIt SOV SO
A S S
U S S O S S
51 : : : : : : : : :
R S L S IR LR S
= : : : : : : : : :
R Rl L S AR AR
e S S A SO PRSI S
0.008ff -4 we oo hoeeh P
0,008 +bordons o b
0.004F-+bovdoodnddode b b
0.002
| SV T PO U DU PO U PO OO O

Ratio

11 S SO SO SO SUUL OO SO JOS S

~10 12 14 16 18 20
Pileup




	Contents
	Page 1


